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GENERAL INSTRUCTIONS for This Test

» The question paper consists of 3 sections (Section-A contains Science, Section-B contains
Mathematics, Section-C contains Reasoning).

» This Question Paper contains a total of 60 quesstions.

» All questions are single correct type questions. Each of these questions has four choices (A), (B), (C) and
(D) out of which ONLY ONE is correct.

» Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

» For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to
the correct answer and zero mark if no bubble are darkened. In all other cases, minus one (—1) mark will
be awarded

> Also read instructions written on the OMR sheet.

Y

Please fill the OMR answer sheet accordingly and carefully.

» Blank spaces and blank pages are provided in this booklet for your rough work. No additional sheets will
be provided for rough work.

» Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.
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PART-1: SCIENCE

[SINGLE CORRECT CHOICE TYPE]

1 dyne is equal to :

1 ST SRTER BIAT B—

(A) 980 g wt (B) 17980 g wt (C) 980 kg wt (D) None of these

A body of mass 5 kg undergoes a change in speed from 30 to 40 mls. Its momentum would increase by
5 fuT g=gdE @1 U fie 30 9 40 el @1 1) T[oiRan 8, O s9a! a9 gfg srfi-

(A) 50 kg m/s (B) 75 kg m/s (C) 150 kg m/s (D) 350 kg m/s

The speed of sound wave in air at room temperature is

HEX P dIIH X gaT H eafy O’ Y Tf Bl 2 |

(A) 364 m/s (B) 346 m/s (C)3 x 108 m/s (D) None of these
The longer end of LED is always connected to the ................ of the battery?

(A) Positive terminal (B) Negative terminal (C) Centre (D) Insulator

LED &1 &d1 RiRT 89e 4280 & ..o H T Bl © ?

(A) GHRIHS <fHer (B) ToRIE® < (C) = (D) fasgare®

The sum of angles of incidence and reflection is 80. What is the angle between the reflected ray and the

mirror ?

T HION 3R RTaH HIon b7 1T 80 © | uRafid fhror iR gt & i &1 HIop =y 8 ?

80°

(A) 45° (B) 30° (C) 60° (D) 50°

The net force acting on a body of mass 1 kg moving with a uniform velocity of 5 ms™ is :

5ms” & UHEAE 9 ¥ T 1 kg g@E & IS W oM arel g€ 99 © ¢

(A) 5N (B)0.2N (OO0N (D) None of these

The twinkling of stars at night is caused by

(A) Reflection of light (B) Refraction of light (C) Dispersion of light (D) Polarization of light
A H ARl & fedafearn few dR9 BT @

(A) UBTI & TRIGAH B (B) BT & Ui &
(C) yarel & fagds @ (D) UBTe & GBIl
Space for rough work
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8. Which of the following are allotropes of carbon?
(A) Coal and charcoal
(C) Coke and coaltar
ffeiRad § 319 H1eF &1 3Uwy 7 2

(B) AwIge qAT ERT

(A) PTIT Td ARGIA
9.  Producer gas contains
(A) Nitrogen and carbon monoxide
(C) Nitrogen and carbon dioxide
ITEd 19 {1 141 & 801 B1 Hedt 8—
(A) N, @ CO (B) H, 72 N,
10.  Water pollution leads to :
(A) Eutrophication (B) Leaching
S UgYT & PR FT BT T
(A) garyoT (B) Mefrer
11.  Which of the following are chemical changes?
(i) Decaying of wood

(ii1) Growth of wood in a tree.

79 # 9 I e aRadd 81 9ad 8?2
(i) TSI BT TS
(iii) 38 § ABS! BT TG

(A) (1) & (ii) (B) (i) & (iv)

(B) Graphite and diamond
(D) None of these

(C) IR®TA Tl dladar (D) 598 A PIs Fal

(B) Hydrogen and nitrogen
(D) Hydrogen and carbon dioxide
(C) N, @ CO, (D) H, der CO,

(C) Soil erosion (D) Acid rain

(C) 321 33U (D) arig gui

(i1) Burning of wood

(iv) Hammering of a nail into a piece of wood.

(il) TPS! BT STATT
(iv) THSI H Bt BT 8ATS I STHT
(C) (ii1) & (iv) (D) (1), (i1) & (iii)

12.  Which of the following statement is INCORRECT?

(A) H,SO, is known as KING OF CHEMICALS.

(B) Aqua Regia is a mixture of conc. HCI and conc. HNO, in the ratio of 3 : 1

(C) The acid found in lemons is oxalic acid.

(D) The characteristic properties of acids is due to the hydronium ion.

=1 A I HUF &1 g1 DITY ?
(A) H,SO, IRl &1 oM ST 2 |

(B) Yeamreforan, e HCl e g HNO, @ 3 : 1 agurd 3 fsfor gie & |

(C) g # Tt 1A BT A IffaIferd 37 § |

(D) 3l & faR¥re I[urerd g SIFEd g+l & HRoT y9ifad 81d 2 |

Space for rough work
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13.

14.

15.

16.

17.

18.

19.

20.

Sunidhi was asked by her teacher to prepare a dilute sulphuric acid from concentrated sulphuric acid. What

should she do ?

(A) Add water to the acid
(C) Add a base to the concentrated acid

(B) Add acid to the water

(D) Add an acid to the concentrated acid

e & 9@ Rierd 1 Aig GorgRe 37 9 T oRIRe I (IR &R & oY w7l o1 | dl 98 a1 Haf ?
(B) U # 37 B ST |
(D) 975 37 # 37 Bl STl |

(A) 3/ F T BT STei |
(C) ATE 3171 H &R I STel |

Which of the following is a noble metal?

(A) Copper

fferRed 9 9 @11 S o1g © 2

(A) drar

Nitrogen-fixing bacteria can be found in :-

I. the soil
(A) I only

I fredt ¥
(A) dad 1

(A) wheat

fpd ®AA Bl UG UM B MAIIHAT Bl © :-

(A) 1§
DPT Vaccine is for :
DPT &1 Eia1 ® :

(A) Diptheria, Polio, Tetanus
(C) Diptheria, Pertussis, Typhoid
Elephantiasis is caused by :-

(A) Anopheles mosquito

(C) tsetse fly

grefl IR 4R e | Bl © -

(A) TAIfhel Heor
(C) AT ARE

Escherichia coli in human intestine synthesises
(B) Vitamin B and C

(A) Vitamin B and D

SPIATS AT H T 8—

(A) fderi= B Ten D

(A) WBC

II. root nodules

(B) I and II only
Aggro fhfaAT Sfam] @81 9 oK @ -
II. Sief @1 e a1 fivs 4
(B) daer 1@ 11

The crop that requires more irrigation is :-

(B) faerii= B @2 C

Identify human cells which lack nucleus—

q9d H Pdod fed BIRGT Ugan—i—

(B) &l I HvTRT

(A) TI9 T BT

(C) Gold
(C) |rn

II1. leaves
(C) I and III only

II1. ufxri &
(C) waa 11 dor 11T

(C) maize

(C) A1

(D) Aluminium

(D) TgfAfaH

(D) L, IT and III

(D) I, II Forr I
(D) jowar

(D) 9rsi_n

(B) Diptheria, Pertussis, Tetanus

(D) Diptheria, Pertussis, Tuberculosis

(B) Culex mosquito
(D) Plasmodium

(B) RIeIdT HBR
(D) wIrsHIfSTH

(C) Vitamin A and K
(C) faeri™ A dean K

(C) Platelets

(C) vy

(D) Vitamin B and K
(D) faeri= B den K
(D) Nerve cells

(D) df3raraIf3reT
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PART-II : MATHEMATICS

[SINGLE CORRECT CHOICE TYPE]

21.

22.

23.

24.

25.

26.

27.

13 is equal to —
13 &1 919 8I—
(A) 3/4 (B) 2/3 (C) 4/3 (D) 2/5

1 1
If a=2++3 and b =2 —4/3, then PER is equal to

11
g a=2+3 Tab=2-3 28 @ 3y @1 AT BIT—

(A) 14 (B) — 14 (C) 843 (D) — 843

Evaluate : \/41_,[21+,/19_J— -
\/41—\/21“/197«@ BT BA BRI—

(A) 3 B) 5 C) 6 (D) 6.9

48.4
0.289

,/ﬁ BT AT BT
0.289

A) 1> (B) 121 (€) 1210 (D) 129
17 17 17 17

is equal to -

The factors of (x3 + 8y3) are -

3 + 8yd) & TUrET -

(A) (x + 2y) (x2 = 2xy + 4y?) (B) (x + 2y) (x% + 2xy + 4y?)

(©) (x +2y) (x - 2y)> (D) (x + 2y)?

If x3 + 6x2 + 4x + k is exactly divisible by (x + 2), then the value of k is -

Ifd %3 + 6x2 + 4x + k, (x + 2) & yofa: fawrsg 2, O k &1 A9 @m-

(A) -6 (B) -7 (C) -8 (D) -10

Four years ago, the father’s age was three times the age of his son. The total of the ages of the
father and the son after four years, will be 64 years. What is the father’s age at present?

IR gy gd, fUdar @ oy SIS YA BI Mg B A AT ot | IR ¥ grg AT &R A B wmA
A 64 a9 B | gdAE H AT B Ay w8 ?

(A) 32 years (B) 36 years (C) 44 years (D) None of these

Space for rough work
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28. Three numbers are in the ratio 4 : 5 : 6 and their average is 25. The largest number is :
AT F=C 4:5:6d JAUd H B M SABT AAd 252 | GIW T GAT T
(A) 30 (B) 32 (C) 36 (D) 42
29. The curved surface area of a sphere is 5544 sq. cm. Its volume is:
TS Ml BT 9% YOI &Fhe 5544 a7 JAHI 2, 1 M BT ATITA ST BRI—
(A) 22176cm’ (B) 33951 cm?® (C) 38808 cm’® (D) 42304 cm?
30. The radii of two cones are in the ratio 2 : 1, their volumes are equal. Find the ratio of their heights.
S YAl B FASAN 2: 1S JqUId H 7, SHAD IMITA FHA T | STDI ATl P JUTd 914
PIAT |
(A)1:8 B)1:4 C)2:1 (D)4 :1
31. 860% of 50 + 50% of 860 = ?
50 &1 860% + 860 &1 50% = ?
(A) 430 (B) 516 (C) 860 (D) 960
32. If 41 — 4% = 24, then the value of (2x)* is :
gfe 45+ _4x =24 8, @1 (2x)* BT 719 B :
(A) 3 (B)3 (C) 3V3 D)9
33. In the given figure ABCD is parallelogram. Then find the value of x if ZA =3x+ 10and £C =x+ 80°:
& 2 aMRfa § ABCD 99iaR 9g4 sl 2 | afd ZA=3x+ 1072 £C =x+80° &, Al X HT A M dIfoTg—
(A) 40° D = /C
(B) 35° .
(C) 60° %
(D) 115° ‘o.
A B
34. The point (0, 8) lieson ____ axis:
fdg(0,8) 11 X Rerd 2 :
(A) X-axis (B) Y-axis (C) Both axes (D) None of these
35. If P(A) = 0.23, then P(A) is equal to :
af P(A)=0.23 %, a1 P(A) &1 |19 1 TT—
(A) 0.23 (B) 1.23 (C) 0.77 (D) None of these
Space for rough work
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36.

37.

38.

39.

40.

3_
4
(A) 75 (B) 75% ©) % (D) 420 %

Which one of the following number is completely divisible by 45?

frafafaa & & a9 < G 45 9 gofa: fawrsg 82

(A) 181560 (B) 331145 (C) 202860 (D) 2033550

In quadrilateral ABCD, DA 1 AB and CB . AB. Which one of the following statements is correct?
Ig4 T ABCD % DA L AB T2 CB L AB g, a1 fFrifalRed § 9 1941 %29 |8l & 2

(1) ABCD is a parallelogram (i1) ABCD is a trapezium (111) ABCD is a rectangle
(i) ABCD U& IR ag4S & (i) ABCD &% ¥9a¥d a4 & (iii) ABCD U 3113d B
(A) () ¢

(B) (i) D

(©) (iii)

(D) None of these A [] B

In figure, O is the centre of the circle, then the value of x is :

&1 T8 3 H,0 g7 BT % ©, d X BT A9 &

72

>
(A) 180° (B) 190° (C)47.5° (D) None of these
13 15 5 3 . .
IfA.B=§.§,B.C=§.§andC.D=€.Z, then theratioA:B:C:Dis:
1 3 15 5 3
H%A.B:E.g,B.C:§.§HQTTC.D:E.Z, dl gurd A:B:C:D#®:
(A)4:6:8:10 B)Y6:4:8:10 C)6:8:9:10 D)y8:6:10:9

Space for rough work
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PART-III : REASONING

[SINGLE CORRECT CHOICE TYPE]

41. Inthe following question, a set of figures carrying certain characters, is given. Find the missing character:-

FefaRad v 4 @e AREd auif arell el &1 e a9 far a1 © | Rad 9w &1 gganRi—

(A) 10C 4C | 2B | 3A
E]é; 1? g 28A| ? |45B
(D)7 C 7C | 5A |15B

42. There is a definite relationship between the first two figures of the set one. Establish a similar relationship
between the third and fourth figure :-

& T WE & Usd 31 El & I e MiREd dey B | A iR el aafa & I 9 ey e
PN—
¢ BSU i ?
e =
oy F |l B
7B B~ |
1) (2 3 @
43. Choose a figure which will continue the series :-

TP AEH I S @&l SR IE—

ON[7 O 5 [NO
7/oloN * oy

NO|O O /0¥
O/MNONONO

®) (2) 3 4
44. A man facing south turns 87° Left, 19° Right, 28° Right, 68° Right, 31° Left, 54° Right, 66° Left and 42° Left

respectively. Which direction is he facing now?

(A) East (B) South-East (C) South-West (D) North-East

SfeToT @1 R W HRD Yo Afda B 87° 414, 19° q1Y, 28° |14, 68° &1, 31° 9, 54° 1Y, 66° a1V 37R
42° 9T goa1 B 3/ g8 fbd fawm @1 R B 7

(A) gd (B) wfror—qd (C) wferor—uf¥em (D) STR-1qd

45. Inacertain code language, ‘nee muk pic’ means ‘grave and concern’; ‘ill dic so’ means ‘every body else’;

and ‘tur muk so’ means ‘body and soul’. Which of the following would mean ‘every concern’?
(A) dic pic (B) ill nee (C) pic nee (D) can’t be determined
e ¥ed s AT #H, ‘nee muk pic’ &1 31f © ‘grave and concern’; ‘ill dic so” @1 31f & ‘every body
else’; AT ‘tur muk so’ &1 31 & ‘body and soul’. F=ifeiRad # & fowaa arf 8F1 ‘every concern’?
(A) dic pic (B) ill nee (C) pic nee (D) frafRa =&1 fdrar <1 @@an
46. Complete the series : n_tns__s_nstn_tns
SGAT P YT BN : N_tns__s_nstn_tns
(A) tstsn (B) stnts (C) sntns (D) tnstn
47. 1If 3rd of the month falls on Friday, what day will be on the 4th day after 21st of the Month ?
(A) Monday (B) Saturday (C) Thursday (D) Friday
I AEM @1 3 ARG DI YEHAR Usal B, A Fo @ 21 ARG & 98 Ay T 9 @ f&F gem ?
(A) WrFaR (B) TftaR (C) TR (D) gehar

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [8]
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48.

49.

50.

51.

52.

53.

The triangle, square and circle shown below respectively represent the urban, hard working and educated
people. Which one of the areas marked I-VII represented by the urban educated people who are not hard
working?

A e mar Bya, 9 &R g9 s wed, Heedl SR Riferd dm @1 ufaffeae #va 2| VI fRfEd
g W Y B A U e & Rifed dAri &1 ufaiEa $Rar g S A A8 8 ?

I/m| v
vi \V| v
(A II B)I O 1v (D) None of the above
If ‘+’ means ‘+’, ‘~" means ‘x’, ‘X’ means ‘-’ and ‘+’ means ‘+’ which of the following will be the value
of the following exprression?
e 4> P13 ), U d R X, X B+ R A 16+-8-4+2x4=7 B HE B—
(A) 16 (2) 44 (3) 28 (4) None

Sudhanshu is a s much older than Kokila as he is younger than Praveen. Nitin is as old as Kokila. Which
of the following statements is wrong?

(A) Kokila is younger than Praveen (B) Nitin is younger than Praveen

(C) Sudhanshu is older than Nitin (D) Praveen is not the oldest

[Ty SIfbell ¥ 9ga I81 & ifd 98 Fdor 9 Biel 3| [ @ 99 difear fa 2| fFr=fafed 9 @
D A BT TAd B 7

(A) ®ifhett, iU & BIE B (B) fafc=, udior & 2T &

(C) gury s & w1 8 (D) ydior Hed g1 Tal B

Read the following information and answer the question based on it :

Eight friends I, 11, I1I, TV, V, VI, VII and VIII are sitting in a circle facing the centre. II is sitting between
VII and IV, VIII is third to the left of II and second to the right of I. III is sitting between I and VII and
IT and V are not sitting opposite of each other.

Which of the following statements is not correct?

(A) IV & T are sitting opposite or each other (B) III is third to the right of IV

(C) V is sitting between VI and 1V (D) 1 is sitting between III and VI

FefaRad SMeRT @1 9fey ok S9 W meiRd uvd &1 SR QY ¢

ame A= L I L, IV, V, VL, VII IR VIII T g 3§ &% &I IR & da 93 | I, VI iR IV & 9=
o1 &, VIL 11 & 9 9 ORRT &R [ S 4 g1 2| 1L IR VII & d= 93871 8 &R [ iRV &
T @ faRd 78 90 2| fr=faRed § @ &9 |1 s 98 TE 2 7

(A)IVIIRITE R & fa 98 2| B)IL IV ® SR O™ = |

(C)V, VIRIV® 9= 931 | D) LHOIMRVI® 99 931 8|

If LINGER is 123456 and FORCE is 56789, then FIERCE is -

gf¢ LINGER, 123456 qem FORCE, 56789 &, I FIERCE & -

(A) CQIJFIS (B) CNJHIS (C) CQIJFGS (D) CNJHIU

If NOCIE is written as $@#?%, and SCENT is written as #%*"@, then COIN will be coded as:

gfed NOCIE &1 $@#?% 21 SCENT &1 #%* @ & wu H forgr ofran g, @ COIN @1 fbd YR $IfSd
fopar Simar 2

(A) #23@ (B) #7@% (C) @72% (D) None of these

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [9]
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54.

water image of given figure will be

o T o &1 9ol # ufe 8

(A) de ®) /22/ ©) \§§ (D) Hﬂ:

55. If A means ‘plus’, B means ‘minus’, C means ‘divided by’ and D means ‘multiplied by’, then 18 A 12

C6D2B5=7?

Ife A &1 Adad Sire’, B &1 7dad ‘ge™r, C &1 Jddd ‘9T d21 D &1 Aded Jom &, al 18 A 12 C
6D2B5="7

(A) 15 (B) 25 (C) 27 (D) None of these

56. If \/15—x+/14 =+/8 —+/7 - then the value of x is
& 15— x/14 =/8 —+/7 & @ X BT AF & —

(A)6 (B)8 ()2 (D)4

57. Madan left home and cycled 10 km Southwards, turned right and cycled 5 km & turned right and cycled
10 km and turned left and cycled 10 km. How many kilometres will he has to cycle to reach his home straight?
89 3 'R 9 10 km g1 fazn 7 wEfed 9 Fodn 8, doead 98 S gASR S5 km el g den iR
SR gHASR 10 km 9ercl & T1 $9 916 9 gAPR 10 km =erdl &, o 989 Pl AR X1 H BR gge
@ forg wEfea o fean g8 a &=l g
(A) 10 km (B) 15 km

(©) 20 km (D) 25 km

Directions : (Q. 58 to 60) :
In each of the following questions, arrange the given words in a meaningful sequence and then choose the

most appropriate sequence from amongst the alternatives provided below each questions.
g ool # forg (=) & SHT OR% & ol Q3 T & | F 9 719 9 A} |1 U, S U oR% 81 I1 ST kW
i, P el S | YD U H gael dlel &l Y&l I IR fdbedl & wu § faar a1 2 | 98 f[Aeey &1 o=

P |
58. 1.Income 2. Status 3. Education 4. Well-being 5.Job
(A)1,3,2,5,4 B)1,2,5,3,4 (©)2,3,4,5,1 (D)3,5,1,2,4
59. 1. Milky way 2. Sun 3. Moon 4. Earth 5. Stars
(A)4,3,2,5,1 (B)3,4,2,5,1 (©)2,3,4,5,1 (D) 1,4,3,3,2,5
60. 1. Sea 2.Rivulet 3. Ocean 4. River 5. Glacier
(A)5,4,3,2,1 (B)5,4,2,3,1 (D)5,2,4,1,3 (D)5,2,1,3,4
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Dio Brijesh Sharma

Lalit Kumar
Slo Hari Singh

NIT Jalandhar

Arjun Bhatia
S/o Rakesh Kumar Bhatia

Jaspreet Singh
Slo Balkar Singh

[

MANIT Bhopal

Nitin Kumar
Slo Phool Singh

-~
b

NIT Raipur

Divyansh Saxena
Slo Umesh Raizada

2

NIT Jalandhar
Vipul Jain

$lo Pramod Jain

Neha Gupta
Dio Naresh Kumar Gupta

MANIT Bhopal

Vishal Meena
Slo Pooran Chand

2

NIT Raipur

Saransh Sharma
Sfo Rakesh Kumar Sharma

3

NIT Hamirpur

Lakshit Juneja

Slo Manoj Juneja

Bhavuk Dhanetia

Slo Anoop kumar Dhanetia

s
NIT Arunachal

Nitin Ghusinga
Slo Shrilal Meena

NIT Patna

Ravindra Kumar Meena
Slo Suresh Chand

NIT Manipur

Himanshu Meena
Slo Kailash chand Meena

AIT Pune

Arun
Slo Kanwar Pal

NIT Meghalaya

Devendra Kumar
Slo Laxman Prasad

Aryan Gupta
Slo Trivendra Gupta

-
MANIT Bhopal

Divyanshu Khandelwal
Slo Ashok kumar Gupta

Deepak Kumar
So Gheesa Ram

NIT Hamirpur

Ankur Kumar
Sfo Mukesh Chand

AIT Pune

Prateek Sikarwar
Slo Dharam Singh

IIIT Bhopal

Bholaram
Slo Jaivinder
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Great Team... Great Results... (IITians from Modulus)
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IIT Dhanbad IIT Jodhpur IIT Delhi IIT Delhi IIT Roorkee

Vishal Agarwal Lakshya Gupta Harshita Gupta Chahat Bansal Pranay Ninawat Deepanshu Budhraja Khushi Singh
Slo krishan kant gupta Slo Purshottam Dass Gupta Dlo Lokesh Gupta Slo Rajesh Kumar Bansal Slo Vikram Singh Slo Kishan Lal Khatri Dlo Rajender Singh

IIT Dhanbad
Bhavesh Sharma Nitik Sharma Riya Jain Vaibhav Singhal Ankit Sulaniya

Slo Sushil Kumar Sharma Slo Himanshu Sharma Dlo Mukesh Jain Slo Dinesh Kumar Singhal Slo Ramdayal Meena

Naman Saini Kartik Panwar
Slo Vimal pushp Slo Pradeep Kumar

o4 o
IIT Ropar IIT Hyderabad IIT Kanpur IIT Bombay

Ashish Sulania Lakshya Mukhija Harsh Khandelwal Abhimanyu Jain A ; P
h / shok Kumar Jat Mahima Kumar
Slo Prem Chand Slo Charan Jeet Mukhija Slo Virendra Kumar Gupta Slo Anil kumar Jain Slo Ramkishan Jat Dlo Raj Singh Sllzll.sa;?ndsrlansgingh
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IIT Palakkad

Anmol Agarwal Niraj Yadav Hemant Kumar Mohit Saini Saumil Gupta Himanshu Yadav
Slo Manoj kumar Agarwal Slo Rajendra Yadav Slo Mahesh chand Slo Rajesh Saini Slo Girish chand Gupta Slo Manoj kumar Yadav

IIT BHU IIT BHU

Sourav Amit Mina Nikita Mina Aynansh Khandelwal Rishita Gupta
Slo Mahendra Kumar Slo Om Ram Mina Do Mukesh Chand Meena Slo Manoj Khandelwal Dlo Rishi Gupta
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MODULUS ACADEMY
Ambedkar Circle, Alwar (Rajasthan); Ph. 9460374000, 9460378000
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